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1. (a) Fill in the blanks with appropriate word : 1x4=4

Tolge = AR e < T

i A Réccipts and Payments Account is prepared on ________ basis of
accounting. :
Tl e TR TR el fefere w4 27|

(i)  When Partners’ Capital Account is fixed, then Partners’ _____ Account
is prepared.
T4 WA e AR B s, o w2
AL y

(iii) —_____ is the extra earning capacity of a business.

I 1 14 | A IO S A PR N s s S el

(iv) Unrecorded assets when realised are credited to ——_ Account.

‘ﬂfﬁﬁ@ﬂ%ﬂﬂﬂW@,Wﬂ_%@%@@l
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(b) - Choose the correct alternative : ' 1x2=2

W TEd ([{0% &0l

(i) An Income and Expenditure Account reveals :

- e o

(1)  Cash Position
FeimE Rl

(2) Surplus or Deficit
T7% (Irefe) At alfs

(3) Capital Fund

(4) None of the above.
THTEE (02 w3 |

(i) The portion of the capital which can be called up only on the winding up
of the company is cailed : _

AT SR 23 ERR SoRa Al oo Fal A, ST 0 -

(1) Authorised Capital
AR e

(2) Issued Capital
fFefie rm

(3) Uncalled Capital
GRS

(4) Reserve Capital.
FEFS o |
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fc) State whether the following statements are truc or false - 1x2=2
oA ARG e S e

(i)  Discount on reissuc of forfeited shares cannot exceed the amount received
on forfeited shares.

ACENG 1 Bt 2 e sare giemt ai5! S e il 9w sie
BIle (I 208 =i =t |

(i) Interest on Debenture is payable only when a company carns profits.

@A FS TR A Bol I 2wl < 7

S

2. What is sacrificing ratio ?

e TS F @R 2

a2

(¥ ]

Give two grounds on which a court may dissolve a firm. 2

@ 7fo Rars Teim ol 3 wliers «off S i Seeim 18I0 <Al |

4. Name any two items that can be shown under sub head ‘Reserve and Surplus’.

‘i e T ST (@oAein) AE @ @ 75 R S @

(]

5. Give two objectives of cash flow statement. 2

o 212 [gfen 76 Suay el

)

6. | What is joint life policy ?
‘Y G AR e @ @ e

7. What arc the sources of Cash Flow ? 3

9 e SAalE @ 2

8.  Explain Average Profit Method of valuation of good will. 3
AR YEHA IToTS Aamhs AR 1 |
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Or / 251

What are the circumstances when a revaluation of assets and liabilities becomes
necessary ? 3

T IR A1E 8 (rl T JEIE I 2

9. Mention the uses of Securitics Premium. 3

SEZT A P R AT TS A S T e

Or / %<1
Mention zhree advantages of issuing debentures. 3
Aeloa et o SR S |
10.  What are contingent liabilities ? Mention any two items. , 3

AYRY (el TE00 F @RI 2 (T G 53 Qa1 SrEe Al |

Or / §2<1
What is the importance of Financial Analysis ? 3
R Rl wieeet 9 2 |
11. From the following information, calculate Current Ratio : 3
Aitsa w2 fofers vfere wigete Refw s
4
Inventory 55,000
T Olfer (Tge)
Debtors 40,000
Cash 37,000
Rk
Creditors 48,000
RO
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Bills Receivable ' ’ 20,000
g+ e

Advance Tax 4,006
e 59

Bills Payable 28,000
A /e

Bank overdraft 4,000
T CORYS

Debentures 2,00,000
He[2q

Accrued Interest. 4,000

RIS

12. The Star Cricket Club had a cash balance of ¥ 500 and a bank balance of T 1,000 on

1.4.2011. From the following details, prepare a Receipts and Payments Account for the
year ended 31.03.2012: - 5

Bl f@ et 03 01.04.2011 SIRT 7% Tt 500 T @ 9% Tl 1000 et Ty fzet | Aosa
w2 SEPIE 31.03.2012 Sifatd (4 28T ISR TE-4A064 BAR 2% I -

=

3
Subscription received for the year 16,000

AR TR ALY A

Subscription outstanding on 31.03.12 2,600

31.03.12 Siffcd Sig (ICEA) SewiE

Subscription for 2010-11 received during the current ycar 1,000
2010-11 J2AD SV Blote T2(T &Y

Life Member fees received 5,000
oI FAPT e 2l
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Donation for Club House Received
FIRUE @] A v

Rent paid for the year
JAfEe 9gSICl av

Advance rent paid
e 2mi STl

Sale of Furniture (Book value ¥ 600)
ffeye wiF@R™ (AreE =T 600 i)

Honorarium to Coach

Sports Expenses
(=TT B

Construction of Club House
- Faa ffitea qm

Salary
(e

Printing and Stationery
27l @ TRt

Postage and Telegram
UIF ¢ ©iq

Maintenance Grant

Depreciation during the year
TR

Salary outstanding on 31.3.2012
31.03.2012 Sifices wighe @ed
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10,000

6,000

600

500

5,000

8,000

9,000

4,500

400

600

1,000

1,000

500



Outstanding salary on 01.04.2011 paid during the year 500
01.04.2011 SIfET4E S07A (IO Blers T2 &

Cash in hand on 31.03.2012 1400
31.3.2012 SIfE0d TS 951 Sl

Stationery in hand on 31.03.2012 | 100
31.03.2012 SIS TCS Sl AP AR |

13. Pari and Puja are partners sharing profits as 3:2. Their capitals are ¥ 80,000 and % 60,000
respectively as on 01.04.2011. Net profit of the business for the year.2011-12 was
% 40,000 before considering the following : 5

228 G 3 1 2 AT TS NZACT SRARIR AT SR | ST T T 80,000 Bl
€ 60,000 TRl 01.04.2011 3 wifdrea & 12011-12 i Sirs Sfafe anaf w ag
ate fe1 40,000 B |

(i) Interest on capital @ 5% p.a

TG TR M ARE 5%

(ii) Salary to Puja ¥ 6000 p.a
s{@ia e @od 6000 B

(iij) Commission to Puja @ 10% of Net Profit after deducting Interest on capital and
salary but before charging such commision.
GHiB BT (I TR BT 96 (e A O =19, Fog ot wgaht 2wt A AT
Teid 10% wEAl <SS Mes 2|
Prepare a Profit and Loss Appropriation Account for the year ended 31.03.12.
31.03.12 SIfECe (T DG I Gl TS EAIFATEF FALCAEH (29719 2 FAt |

b~

Rohan and Sohan are partners sharing profits and losses in the ratio of 3 : 2. Mohan joins
the firm as a new partner for 1/4% share of future profit. Mohan brings % 20,000 as capital
and required amount of premium. The goodwill of the firm was valued at

z 30.000. Give Journal Entries assuming that partners’ capitals are fixed. 5

e e T 3 2 SR ST SIAITS @<l SRRl A SR | G

-
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1/4 =0 SRRI0S 1S AT &) SeEe 271 (12 20,000 B 51 @ S 2
A & AT S T | AR AT 35 30,000 OI<el 21 <1l 70 | weAmina Syt
23 et a0 =BT wiaml 2% wis |

Or/ o3y
A and B are Partners sharing profits and losses A — 75% and B—25% respectively. Their
Balance Sheet as on 31.03.2012 is given below : 5

A8 B SISHHIS 00 SIS~ (IR S ATS T A—75% 8 B-25% 1 31.03.2012 3¢ Wi
eItz fZfseig fmmet

Liabilities 3 | Assets kN 3z
m : = ﬂ_ﬁ?[% —
Sundry Creditors 40,000 | Cash 20,000
ffen neamE w5
Profit and Loss Account 10,000 Sundry Debtors 16,000
AS-ERSIN BAR Few mmmE
Capital Accounts : Less-Provision
P ERCHEY (S i TR AT
A 30,000 for Bad Debts 1,000 15,000
B - 20,000 50,000 | SRR |
Stock 35,000
e
Furniture 5,000
RUMEISS
Plant and Machinery 25,000
TZAMS
1,00,000 1,00,000

X was admitted as a new partner on the following terms :

X~ A 2&ve *EACTT e orent = -

(i) That plant and machinery is to be reduced by 25%
TRAISA T57 25% 31 341 24 |
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(if) Fumiture is to be depreciated by 10%.
RIS =T 10% S 491 23 |

(iii) Bad Debts amounted to ¥ 1,750 and are to be written off, -
TR A 1,750 B A (reT TR |

.(iv) There was an unrecorded Typewriter valued at ¥ 5,000.

SR ARGE 71 T4 5,000 BiA G HiRwiaiR5e e |

(v) O_utstanding legal charges estimated at T 1,250.
A A SR T A 1,250 Bi |

Prepare a Revaluation Account.

GG 7T U AR 2 |

15. What is a sinking fond ? Ilow is it created ? ‘ 5
‘Pl %1’ FeT0e ) @R 2 96l [Ferna B waie ¢

16. A Company has issued ¥ 1,00,000, 10% Debentures at 5% discount repayable at 5%
premium after 4 years. Give Journal Entries for issue and show the Loss on Issue of

Debenture Account over 4 years. 5

GF @A 1,00,000 BRFE, 10% Ae7id 5% <ABice RfEmad ata 5% SiffsE @Fes Ml
4 20 719 | 9T G Gt dRE (el @ Ao et zeal (\ i 4wl e (i

Ve |
17. What are the uses and importance of financial statements ? 5
i wrreE Ryfen aeE ¢ sRerelef Srad St
Or/ 9431
What are the limitations of Financial Statement Analysis ? i)

e [Rgfon Ruzreg srjfRalsl o

18. How would you compute the amount due to a retiring partner ? 5

GFT SEAIANS AT &lolf Bl et [Wdiae sata 2
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their Balance Sheet was as under :

X, Y8 Z 5:3:2 SF#ICS ol 954 [ weiima @i a1 31.03.2011 s siom

. e

19. X, Y and Z are in a partnership sharing profifs in the ]Sroportion 0f5:3:2. On 31.03.2011

X died on 01.10.2011. It was agreed between his executor and the remaining partners that :

01.10.2011 R ORIy X~49 9 =3 | ©ld Tealfeid ¢ sk wilmimre 9 oo =1 @

(i)  Goodwill be valued at 2 years’ purchase of the average profit of the previous

5 years which were —

TG =0 42 A T T3 97 =il 193w ofe sivea Seita | fsie =il et w e <3

0T —

2006 - 07
2007 -08
2008 - 09
2009 -10
2010-11
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15,000
13,000
12,000
15,000

20,000
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Tfovig A el fomanst
Liabilities ol 4 Assets 3
Creditors 7,000 Building 20,000
Areaivlz qq
Reserve 10,000 | Machinery 30,000
Capital Accounts Stock and Debtor 18,000
PGECEEICH WES € (vl
X 35,000 Patents 6,000
¥ 20,000 CoATGB
Z 15,000 70,000 | Cash 13,000

T BRIE T

87,000 87,000




20.

(i) Patents be valued at ¥ 8,000, Machinery at 28,000, Buailding at ¥ 30,000.
CAEBETE =T 8,000 Biel, T=6a o1 28,000 BI<el '@ ST & 30,000 B |

(iii) Profit for the year 2011-12 be taken as having accrued at the same rate as the
previous year.

2011-12 99 #11S o1 2033 TR0 2@ A0 431 s |

(iv) Interest on capital be provided at 10% p.a
SEUCE SR Y A9 10%

(v) A sum ofX 11,500 was to be paid to his executors immedidately.

11,500 Tia] sea{aei X-49 SeaiEma amie 1 o3 |

Prepare X’s Capital Account and his Executors” Account at the time of his death.

X-49 TR ST Foiet1d 29717 ¢ oig Seaiftaifia e aae w0t |

Karan Ltd. decided to issue 10,000 shares of % 100 each at a discount of 10%, payable
as follows : 8

4 RS 10,000 5 @iz, 3 @fefbw 35 100 Bres, 10%3@*&%me|
<It> 2w e REEls amiv +are 714
On Application — ¥ 30

On Allotment — ¥ 40 (After deducting discount)
IBCTT A (1G] AW (RE 2F)

Balance 1st and final call.

ST AT € T B |

The company received 9000 applications. All the shares were duly accepted and allotted.
All the calls were duly made and all call money received accordingly. Give Journal

Entries and prepare a Balance Sheet.

A 9000 SITAWoia Fees 0 | o Sieisize @ T ol T | I ©F I 5 8
HHTALS IIE Gl T | AR Sl affs orewl e ﬁfrvrzrwan—mmm
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Or/ 9

Ram, Shyam and Mohan were in partnership sharing profits and losses in the ratio of
3:2:1. On 01.01.2010 Shyam retires from the firm. On that date the Balance Sheet of

the firm was as follows : 3
A, I @ (AR 3:2:1 WA & fota wesiwidl e 9 &1 01.01.2010 ©ifd *mw
A (ATF SRR A | T& Sifare e Bfest fmmey

Liabilities 4 Assets 3
SEl 7ife
Sundry Creditors 30,000 | Cash in hand 600
fafem fhenmim ZITe A9 &
Reserve | 6,000 Investment 25,000
i fRfcznst
Bills Payable 2,600 | Decbtor 15,000
A fee M
Capitals: Less : Provision 1,500 13.500
JET SR IE
Ram 20,000 Stock 18,500
iR TS |
Shyam 15,000 Furniture 8,000
Rl RIGEIE]
Mohan 12,000 47,000 | Premises 20,000
IET] BT

' 85,600 85,600

The terms of retirement were :

AR AR T

(i) Goodwill is to be valued at ¥ 12,000.
AR =T 12,000 B |

(if) Premises to be appreciated by ¥ 5,000.
SRR T=0 I 5,000 B

23T-ACOU (BENG) [12]



(iti) Furniture to be depreciated by ¥ 1,000.
AR S 1,000 G )

(iv) Provision for bad debts to be increased by T 400.
SR AT AW TR GE 400 BiE 9 =l 3|

(v) Investments were sold at book value and the amount due to Shyam was paid off.

feTe aret e Rt R <t <vees om B sAfvar = =)

Pass Journal Entries to record the necessary adjustments for retirement of Shyam.
IR SRPACE &) SRR TR @icami 24 S wie |

21. Shiba and Dhruba are partners in a firm. The Trial Balance of the firm as on 31.03.2011
was as follows : 8

FI9 e & SR TR 31.03.2011 B OifkTe 999 e G i (Remete)
oot |

Trial Balance .

( Qr= AE)
Debit T = Credit 2
o : ARD
Machinery 54,000 Capital :
@A T |
Goodwill . 10,000 Shiba - 50,000
AN 2
Patents _ 20,000 Dhruba 40,000 90,000
CoLBB &9
Sundry Debtors 21,000 Sundry Creditors 5,000
ffen ommE ffen sAiemmia |
Cash in hand 1,000 Interest on Investment 400
2O 9% | RfcTem
Closing stock on 31.3.2011 25,000 Sundry Receipts 200
31.3.2011 R SIffTd (<17 741 1@ e 2y
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Investments 10,000 Bank overdraft 10,000
faferzist [IE GORGS
Depreciation on Machinery 6,000 Outstanding wages 500
Establishments - 10,000 Trading Account (Gross Profit)] 71,000
wfleTtEE ‘ AN A (GG =17')
Carriage outward | 1,000 | Discount 900
e Az Rl
Taxes 500 Bills Payable 2,000
Telephone Charges 3,600
Conveyance 800
RISIEI )
Drawings :
izl
Shiba 5,000
farg
Dhruba 4,000 9,000
ke
Salaries 8,000
(O«
Bank Charges 100
T 490 ) :
1,80,000 - 1,80,000

Prepare a Profit and Loss Account and a Profit and Loss Appropriation Account for
the year ended 31.03.2011 and also a Balance Sheet as on that date after taking into

consideration the following adjustments :

31.03.2011 IR (< 2671 QL & FS-EARSANTET BAR @ stie-(eieHiia Sorare Bae
€ U@ ©ifitd Mo crem ez Bone a v o <
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‘i) Write off ¥ 1,000 as bad debts and provide a 5% provision on sundry debtors for
doubtful debts.

1000 BRPl SRR el M A (RIS 2 5% B (I Sof SfREred 9<% I ;

(if) Interest on investment accrued ¥ 600.

Rt T wifets 5w 600 Big |

(iii) Interest on Partners’ Capital is allowed @ 5% p.a.
T OAT 5% BIE W iR w0l |

(iv) Create a General Reserve by taking ¥ 5,000 out of profits.
=S (AT 5,000 BiA Az Afens e S|

Fair Deal Ltd. invited application for the issue of 2,000, 10% Debentures of ¥ 100 each
at a discount of 10% payable X 30 on application on 1st May, 2010, T 30 on allotment
(aficr deducting discount) on 1st June, 2010 and the balance on first and final call on
Ist July, 2010. All the debentures were fully subscribed. Debenture money was duly
called and paid up. 8

Give Journal Entries and show how the debentures and Debenture Discount will be
shown in the Balance Sheet of the company.

RIS FARIET 2,000 100 BieE 10% A<l=Taa Sy SRWHATA SISEe G | delsfas g
10% =G/ f&fer =41 2011 @2 9iEweE T 01.05.2010 32 ©ife 30 B, 01.06.2010 33
ifece SieSraa S 30 BRA (B A% (I ) € 01.07.2010 32 Sifacd A S[HE #/Fme
YU @ (Y S ST TS I | B Ael0ad el STl ST @ Ael5Tad S Sy
T G #id AW q=2Alf G |

SRR Eicaw dfFE we 8 Rfesitg widy vz e mrite T (e |
Or/ g7y

Janata Iron Ltd. has forfeited the following shares of ¥ 10 each fully called up for non-
payment of allotment and call moneys.

AT 8 TACKE BI<El #1l (W1 T It 2awg 77)ef Cerdie 10 Bl witsia siestoiqafe et
R FRee e 0 ¢

(@) 200 shares held by A who has paid Application money of ¥ 2 each only.

A -a7 200 T2l (@Eg Ty A Sitave Qe 2 DIl Wi S fefee )
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_ (B) 300 shares held by B who has paid application and allotment moncy of T2 and
T 3 each respectively.

B-93 300 Si5*i%{@ (@2 G B S0 € S60a G TG0 2 B e 3 B wimiE
|

(c) 400 shares held by C who has paid Application, Allotment and First call money
of ¥2, ¥ 3 and T 2 each respectively.

C-97 =47[@ (@aFR T C a9, SHTod 8 am—f«rﬁmﬂwmﬁmr
3 5 e 2 B Turaifest |

All the above forfeited shares have been re-issued at a discount of 10%. Expenses
on re-issue amounted to T 500.

THIe ACTANY Tl B W= AT 10% BTS2 [t vt =1 sja [ifereae qiam
500 BiE <46 2|

Give journal entries in the books of Janata Iron Ltd.

Ge! iR FREGrea Ao Tiaw a4l s wie |
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